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10的负数指数加减乘除运算

10 =(−4) 666.5 × 10 =(−3)

10 =(−1) 877.3 × 10 =(−4)

360.3 ÷ 10 =(−4) 10 =(−3)

1 × 10 =(−3) 6 × 10 =2

10 =(−1) 10 =(−2)

644.4 × 10 =(−4) 408.4 × 10 =(−3)

10 =(−1) 667.4 ÷ 10 =(−3)

10 =(−3) 10 =(−1)

5 × 10 =0 −2 × 10 =0

7 × 10 =(−3) 10 =(−2)
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姓名: 　　　　　　　 日期: 　　　　　　 分数: 　　　

10的负数指数加减乘除运算

10 = 0.0001(−4) 666.5 × 10 = 0.6665(−3)

10 = 0.1(−1) 877.3 × 10 = 0.08773(−4)

360.3 ÷ 10 = 3603000(−4) 10 = 0.001(−3)

1 × 10 = 0.001(−3) 6 × 10 = 6002

10 = 0.1(−1) 10 = 0.01(−2)

644.4 × 10 = 0.06444(−4) 408.4 × 10 = 0.4084(−3)

10 = 0.1(−1) 667.4 ÷ 10 = 667400(−3)

10 = 0.001(−3) 10 = 0.1(−1)

5 × 10 = 50 −2 × 10 = −20

7 × 10 = 0.007(−3) 10 = 0.01(−2)
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